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HR3—2 EEMITEATALEESNDHEICET HEIE(1/2) | HAEEE 20244)%
AR ONE | BmEs S0IANOTY B | U | Pt 7 PRl IR
SUEFH O T iRICHIET 514 SUERIHPA
%}% TREOBHOEILADKES TREDHBERILEIDKRES TREOBDHOEILADKRES TREDOHBERILADKRES
= = £ H\ L [ T2 A\ L Sz = = T2 A\ = T A = | =
: 100kN/m#%#%%| 1.00| 000 ~ 0.80 111.90 [3mZ#BZ S -~ — — —| 100kN/m#%#E%%| 1.00 [11.22 ~ 13.61 111.90 |3mZ#BZ 5 -~ — — —
zhnLs 1.00| 080 ~ 858 100.00 [ = ist | 000 ~ 858 | 238 12.75 Thns 1.00] 5.00 ~ 11.22 100.00 | £hist | 500 ~ 13.61 | 2.38 12.75
’ 100kN/m#%#E%%| 1.00| 000 ~ 1.24 118.81 [3mZ#BZ D -~ - — —| 100kN/m#%#E%%| 1.00 [10.59 ~ 14.46 118.81 |3mZi{BZ % -~ — — —
Zzh st 1.00| 124 ~ 903 100.00 | #hkist | 000 ~ 9.03 | 2.24 12.01 Fhst 1.00| 500 ~ 1059 100.00 | Zh kst | 500 ~ 1446 | 2.24 12.01
3 100kN/m##8%25%| 1.00| 000 ~ 042 106.19 |3m%#Z 3 - ~ - - —|[ 100kN/m%#%%| 1.00 |10.63 ~ 11.76 106.19 |3m%#A3 — ~ — — —
ZhLst 1.00| 042 ~ 820 100.00 | #hkist | 000 ~ 820 | 2.26 12.09 Fhst 1.00 | 500 ~ 10.63 100.00 | #h kst | 500 ~ 11.76 | 2.26 12.09
4 100kN/m##8%25| 100| 000 ~ 127 11917 |3m%#A 3 -~ - - —|[ 100kN/mM%E#%%| 1.00 (1076 ~ 14.72 11917 |3m%E#BA5 -~ — — -
Zh st 1.00| 127 ~ 905 100.00 | #h kst | 000 ~ 9.05| 2.30 12.30 Fhst 1.00| 500 ~ 10.76 100.00 | #h kst | 500 ~ 1472 | 2.30 12.30
5 100kN/m##8%%| 1.00| 000 ~ 0.83 11241 |3m%E#A3 -~ - - —|[ 100kN/m%#8%%| 1.00|10.72 ~ 13.12 11241 |3m%E#BA3 -~ — — —
Zh st 1.00 | 083 ~ 861 100.00 | #hkist | 000 ~ 861 | 229 12.24 Thst 1.00 | 500 ~ 10.72 100.00 | #h kst | 500 ~ 1312 2.29 12.24
6 100kN/m##8%%| 1.00| 000 ~ 1.14 117.21 |3m%#23 -~ - - —|[ 100kN/m%#%%| 1.00 1090 ~ 14.42 117.21 |3m%E#B23 — ~ — — —
Zh st 1.00| 114 ~ 893 100.00 | #hkist | 000 ~ 893 | 233 12.46 Zhst 1.00 | 500 ~ 10.90 100.00 | Zhlist | 500 ~ 1442 | 233 12.46
. 100kN/mi%#8%2%| 1.00| 000 ~ 0.68 11019 |3m%#A 3 -~ - - —|[ 100kN/m%E#B %% 1.00 [10.57 ~ 1250 11019 |3m%E#A 5 -~ — — -
Zzh st 1.00 | 068 ~ 847 100.00 | Zhkist | 000 ~ 847 | 223 11.94 Fhst 1.00| 500 ~ 1057 100.00 | #h kst | 500 ~ 1250 | 2.23 11.94
8 100kN/m##8%%| 1.00| 000 ~ 054 108.00 |3m%#2Z 3 - ~ - - —|[ 100kN/m%E#B 25| 1.00 [10.98 ~ 1250 108.00 |3m%#Z3 — ~ — — —
Zh st 1.00 | 054 ~ 832 100.00 | #hkist | 000 ~ 832 | 234 1254 Fhst 1.00| 500 ~ 1098 100.00 | #h kst | 500 ~ 1250 | 2.34 1254
0 100kN/mi##8%25%| 100| 000 ~ 037 10546 |3m%#Zi3 -~ - - —|[ 100kN/mM%E#E %% 1.00 [11.44 ~ 1250 10546 |3m%#Ai3 -~ — — -
Zhst 1.00 | 037 ~ 8.16 100.00 | ZhList | 000 ~ 816 | 2.41 12.91 Fhst 100 | 500 ~ 1144 100.00 | #h kst | 500 ~ 1250 | 2.41 12.91
10 100kN/m%#8%25%| 1.00| 000 ~ 052 107.77 |3m%#Z3 -~ - — —| 100kN/m#%#E%%| 1.00 [10.67 ~ 12.11 107.77 |3m%#BZ % -~ - — —
zhns 1.00| 052 ~ 8.31 100.00 [ = ust | 000 ~ 831 | 227 12.16 zhnst 1.00 | 5.00 ~ 10.67 100.00 | #hist | 500 ~ 1211 | 2.27 12.16
» 100kN/mM#%#B % % — - ~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % — -~ — —|3mZx#EZB -~ — — —
zh st 1.00| 000 ~ 754 96.41 [ ZhLis | 000 ~ 754 | 245 13.12 zhns 1.00] 5.00 ~ 11.10 96.41 | Zhiis | 500 ~ 1110 | 2.45 13.12
12 100kN/m#%#%%| 1.00| 000 ~ 1.38 121.03 [3mZ#BZ S -~ — — —| 100kN/m#%#E%%| 1.00 [10.68 ~ 15.10 121.03 |3mZ#BZ 5 -~ — — —
zhnLs 1.00| 1.38 ~ 9.17 100.00 [ = ist | 000 ~ 9.17 | 247 13.24 zhns 1.00 | 5.00 ~ 10.68 100.00 | £ lst | 500 ~ 1510 | 247 13.24
13 100kN/m%#B 2z % 1.00] 000 ~ 1.94 129.89 [3mZ#Z D -~ — — —| 100kN/mi#%#8%%| 100 [10.64 ~ 17.58 129.89 [3m%Z#EZ S -~ - - -
zhns 1.00] 1.94 ~ 972 100.00 [ Zhist [ 000 ~ 9.72 | 246 13.16 zns 1.00 | 5.00 ~ 10.64 100.00 | £hist | 500 ~ 1758 | 2.46 13.16
14 100kN/mi#%#%%| 1.00| 000 ~ 145 122.11 [3mZ#BZ D -~ — — —| 100kN/mi#%#8%%| 1.00 [10.85 ~ 15.58 122.11 |3m%{BZ % -~ — — —
zh st 1.00| 145 ~ 924 100.00 [ = ist | 000 ~ 9.24 | 252 13.48 zhns 1.00 | 5.00 ~ 10.85 100.00 | #hist | 500 ~ 1558 | 2.52 13.48
15 100kN/m#%#%%| 1.00| 000 ~ 1.13 117.05 [3mZ#BZ 5 -~ - - —| 100kN/m#%#8%%| 1.00 [11.33 ~ 14.96 117.05 |3m%#BZ 5 -~ - - -
Zzhn st 1.00] 113 ~ 8.92 100.00 [ Zh st | 000 ~ 8.92| 240 12.84 zhn st 1.00] 500 ~ 1133 100.00 | £h st | 500 ~ 1496 | 2.40 12.84
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SER O FRIRXIFERE
HR3—2 EEMITEATALEESNDHEICET HEIE2/2) REEE | 20214 )%
AR ONE | BmEs S0IANOTY B | U | Pt 7 PRl IR
SUEFH O T iRICHIET 514 SUERIHPA
%}% TREOBHOEILADKES TREDHBERILEIDKRES TREOBDHOEILADKRES TREDOHBERILADKRES
16 100kN/mM#%#B 25 1.00| 000 ~ 0.22 103.28 [3ImZ#EZ 5D -~ — — —| 100kN/mi%#8%%| 1.00[10.72 ~ 11.36 103.28 [3m%#EZ 5 -~ - - -
zhnLs 1.00| 022 ~ 8.01 100.00 [ = ist | 000 ~ 8.01 | 2.10 11.21 Thns 1.00 ] 5.00 ~ 10.72 100.00 | £hist | 500 ~ 1136 | 2.10 11.21
17 100kN/m#%#E%%| 1.00| 000 ~ 1.02 115.35 [3mZ#BZ % -~ - — —| 100kN/m#%#E%%| 1.00 [10.56 ~ 13.62 115.35 |3mZ#BZ % -~ — — —
Zzh st 1.00| 1.02 ~ 881 100.00 | Zh L5t | 000 ~ 881 | 223 11.92 Fhst 1.00| 500 ~ 1056 100.00 | #h kst | 500 ~ 1362 | 2.23 11.92
18 100kN/M#E#B % % — -~ — —|3m%EEZD -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
ZhLst 1.00 | 000 ~ 7.61 9742 | Zhs | 000 ~ 761 206 11.03 Fhst 1.00 | 500 ~ 1042 9742 | hkst | 500 ~ 1042 | 2.06 11.03
19 100kN/M#ZEH#B % % - -~ - —|3m%E#ZD -~ - - —| 100kN/MZE# B %% — -~ - —|3m%EHBZ 3 -~ - — —
Zh st 1.00 | 000 ~ 743 9492 [ #hst | 000 ~ 0.00 | 1.70 9.12 Fhst 100 | 500 ~ 978 9492 | #hist | 500 ~ 9.78 | 1.70 9.12
20 100kN/mM#Z#B % % — -~ - —|3m&HEZD -~ — - —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ - — —
Zh st 1.00 | 000 ~ 7.02 89.00 [ #h s | 000 ~ 0.00( 1.60 8.57 Thst 100 | 500 ~ 952 89.00 | #h kst | 500 ~ 952 | 1.60 8.57
91 100kN/M#EH#BZ % — -~ - —|3m%E RS -~ — - —| 100kN/M%Z#B %% — -~ - —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 722 9188 | Z#hiist | 000 ~ 722 1.79 9.59 Zhst 100 | 500 ~ 920 9188 | Zhiist | 500 ~ 920 | 1.79 9.59
99 100kN/mM#E#B %% - -~ - —|3m&#EZD -~ - - —| 100kN/mMZ#B %% — -~ - —|3m%EHEBZ 3 -~ - — —
Zzh st 1.00 | 000 ~ 7.21 9169 | Zh s | 000 ~ 0.00 | 1.72 9.20 Fhst 100 | 500 ~ 920 91.69 | Zhis | 500 ~ 920 | 1.72 9.20
03 100kN/M%EH#B % % — -~ — —|3m%EHEZD -~ — — —| 100kN/M%Z#B %% — -~ — —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 542 6758 | #h st | 000 ~ 0.00| 1.66 8.86 Fhst 1.00| 500 ~ 6.00 6758 | hkist | 500 ~ 6.00 | 1.66 8.86
100kN/M#ZEH#B % % ~ 3mZHERD ~ 100kN/mM#ZE#B %% ~ IMERBZ D ~
Zhst ~ Zhst ~ Zh st ~ Thst ~
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ 3mEHBAD ~
Zzhst ~ Zzhs ~ zhst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zhst ~ zhs ~ Ths ~ Thst ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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